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TOURISM AND HOSPITALITY

Full Marks : 30

Pass Marks : 9

Time : Two hours

The figures in the margin indicate full marks

for the questions.
Q. No. 1 carries 2 marks each 2x1= 2
Q. Nos. 2 carries 2 marks each 2x6 = 12
Q. Nos. 3 & 4 carries 3 marks each 3x2= 6
Q. Nos. 5 carries 1 mark each 1x10 = 10

Total = 30
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Part - A
( Vocational Skills )

Give an example of a hotel which is designed to cater customers with
special needs. 1
93 (RFR T e Remme 7 4eds AW IR A |
Write the full form of GIM. 1
sl FA fordl 2 GIML

Define personal hygiene. Write any fwo problems of not maintaining

good hygiene. 1+]1=2

Ifesre FrgRite wica | AL 7y F9 7 I TIRR R 5o
1 feran | :

As a hotel professional, how would you cater with speech impairment
customer ? 2

GG (E TR BB ofil SR TrETeRe AlEF F@Ne (FES PN
il

Differentiate between Buyers and Guest. 2
AT A% SR Aere 4 Ay for |

Write seven day’s name in French. 2
@Fpe (FIM61) AR I ot |

What are the steps you should take to maintain cleanliness around
workplace ? 2

TS ARFR-oRvel &3 AR oft & & @9 Toiw iR slerre
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() Write the meaning of following French words : 1+1=2
weTe firt TAIbT R W feral ¢
(a) Bonjour

(b) Bienvenue

3. What are the etiquettes you should follow while standing with a guest ?
3

wfefe sRe Ry @@ TEdre g 2 $RI @@ FRnenE &

4.  What do you mean by hazards ? Write the preventive measures for fire

hazard. 1423
Reiw Jforcet & @ ¢ O3 A @R Reiw e 3919 TRt forn

Or [/ o%<l
Briefly explain the ways to access F & B workplace hazard. 3

F & B F1ee @Rl Roi Haresd TaR1 TAm @25 i @2 |

Part - B
( Employability Skills )
5. (i) What are the characteristics of an ideal message ? 1

<Bt S 3799 Rergert & = e
(a) Clear

(g
() Concise

MR
(c) Accurate

g
(d) All of the above

GoTq (BRI
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(i) Which one of these sentences is punctuated correctly ? 1

TeR (@ Are AT Ran-ozr e =1 =R ¢
() Where are you going.

(b) I have a pen a notebook and a pencil.

(c) I am so happy to see you !

(d) This is my house.

(i) Which of the following is not a parameter to describe an individual's
personality ? 1

TR U Ifeare Jfew I T vt =312
(a) Self-confidence
og-fR

(b) Openness
Tfet

(c) Neuroticism

Ferarbibem

(d) Agreeableness
RETI)
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(iv) The ability to work with others is

T CCS I I AN (A=

(a)

(b)

()

(d)

Organisational skills
IS TFS!

Interpersonal skills
AT wFel

Initiative
ANCFA

Perseverance

SR

(v) C.N. G. stands for —

C.N. G.39q =7 —

(a)

(b)

()

Compressed Natural Gas

Compact Natural Gas

Compressed Nature Gas

(d) Complete Natural Gas
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(vi) Motivation is derived from the word motive. ( True / False) 1

‘Motivation’ *(06! ‘motive’ *q 711 TeoifE (2= ( 9%/ oy R Bedr)

(vii) Entrepreneurs can create jobs in the market. (T rue/False) 1

RS Teta sl R IR AR | (o / Tow AR TEE)

(viii)

(ix)
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is an arrangement in a horizontal manner. 1
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(d)
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Row
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Worksheet
FAG

Which one of the following is an example of eco-friendly material ?

o (A ARG AR A AT Tz 2

(a)

(b)

(c)

(d)

1

Chemical
ERE o

Banana leaf
FANS

Plastic

Eallicag

Iron
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(x) Which one of the following signs define a formula ?

frafe oWt et €5l o P ?
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® /
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